APPENDIX E Answers to Odd-Numbered Problems

9.59  Can be achieved by the RL circuit shown in Fig. E.19.
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Figure E.19 For Prob. 9.59.

961 (a) 140.2°, (b) leading, (c) 18.43V
963 18k, 0.1uF
965 1042mH

9.67  Proof

9.69 3821/ —8.975 Q
9.71 2mH

9.73 235pF

Chapter 10

101  15.73cos(t 4 247.9°) V
10.3  3.835c0s(4r — 35.02°) V
105  6.154cos(10% + 70.26°) V
10.7  35.74sin(1000r — 116.6°) A
10.9  7.906 /43.49° A

10.11 1058/ —112.4° A

10.13 16.64 /56.31° V

i fr i [L
1015 (a) 1,0, _E\/g' () 0,1, E\/g

V(R + jowL +1/jwC>)
(1/jwC1 + 1/jwCa) (R + joL + 1/joC1) + 1J/w?C1Cy’
V/joC;
(1/jwC1+ 1/jwC2)(R + joL + 1/jwC1) + 1/w?C1Ca

10.19 6.154cos(10% + 70.25°) V

1021 467/ —20.17° A,1.79,/37.35° A
10.23 2.179 /61.44° A

10.25 7.906,43.49° A

1027 1971/ -21°A

10.17

1029 3.35/174.3° A
10.31 9.902cos(2r — 129.17°) A
10.33 10+ 21.45sin(2r + 26.56°) + 10.73 cos(3t — 26.56°) V
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10.35 0.1+ 0.217cos(2000¢ + 134.1°) — 1.365sin(4000¢ + 14.21°) A

10.37 3.615c0s(10°t — 40.6°) V

10.39 5.238 /17.35° A

1041 (8) Zy = Zm = 22.63/ — 63.43° Q, V1 = —50 /30° V,
Iy =2236,/273.4 A, (b) Zy = Zm = 10/26° Q,
Vrn=3392/58°V, Iy = 3.392/32° A

1043 Zy = Zt1 =21.633/ — 33.7° 2, V1, = 107.3 /146.56° V,
Iy =4.961/ — 179.7° A

1045 15.73cos(t + 247.9°) V

10.47 3.855cos(4r — 35.02°) V

1049 1k, 5.657cos(200r + 75°) A

10.51 0.542cos(2t — 77.47°) A

1053 —jwRC, -V, coswt

10.55 35.76cos(10% — 26.56°) uA

057 S (1+ijzcz)' G Ry Gy <l+jR2C2/R1C1>,
C, \1+ jwR:iC1) Co' R, C» 1+
Cy < 1+ )
C2 \1+ jR:C1/R:C

10.59 1.32 + Rz + ja)Clest
(1+ joRi1C1)(Rs + joC2R2Rs)

10.61 35.78cos(1000r 4 26.56°) V

10.63 1.465,/79.59° A

10.65 1.664 / — 146.4° V

10.67 1591 /169.6°,5.172 / — 138.6°, 2.27 / — 152.4° V

10.69 Proof

10.71 (a) 180 kHz, (b) 40k

10.73  Proof

10.75 Proof

Chapter 11

11.1 800+ 1600 cos(100r + 60°), 800 W

11.3  75W,5W,0W,25W,0W

115 1248W

11.7 4378 W

119 Oow

1111 (a) 0.471 + j1.882 2, 15.99 W, (b) 2.5 — j1.167 2, 1.389 W

11.13 05— ,05%,90W

1115 21.23— j10.15Q

11.17 6.792 2, 6.569 W
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